Name: %Q{Y

Applications of 6.2 and inverses

1) The softball and baseball teams submit equipment lists to their sponsors. Softball: 6 bats, 10 balls, and 16 uniforms. Baseball 8
bats, 17 balls, and 20 uniforms. Each bat costs $75, each ball costs $12 and each uniform costs 570 Use matrix multlphcatlon to find

the totafﬁt of eqmprgentéor eajh team. -
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2) The number of touchdowns (TD), field goals (FG), points after touchdown (PAT), two-point conversions (2EP) and a safety (STY) for
the all-time three top NFL scoring teams for a season is shown in the table below. The other table shows the number of points each type
of score is(m>th. Use the information_to determine how many total points each team scored.

A

C‘@ SuO..,. B'A'

Score | Points Team | TD | FG | PAT [ 2ep | STY & g1 |VE
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3) Find the determinant of 3 6l 4) Find the inverse of 3 6|
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Applications of 6.2 and inverses

1) The softbhall and baseball teams submit equipment lists to their sponsors. Softball: 6 bats, 10 balls, and 16 uniforms. Baseball: 8
bats, 17 balls, and 20 uniforms. Each bat costs $75, each ball costs $12, and each uniform costs $70. Use matrix multiplication to find
the total cost of equipment for each team.

2) The number of touchdowns (TD), field goals (FG), points after touchdown (PAT), two-point conversions (2EP) and a safety (STY) for
the all-time three top NFL scoring teams for a season is shown in the table below. The other table shows the number of points each type
of score is worth. Use the information to determine how many total points each team scored.

Score | Points Team | TD | FG | PAT | 2EP | STY
TD 6 Patriots
75 | 21 | 74 | 2 0
FG 3 (2007)
PAT 1 Vikings | 0 35 | s9 | 3 | 1
(1998)
i 2 Redskins
STY 2 (1983) 63 | 33|62 | 0 1
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3) Find the determinant of . 4) Find the inverse of .
-3 6 -3 6
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5) Show that and are inverses of one another.
7 =2 35 3
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7) Solve the equation for the matrix X.
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-6 2 1 1
5) Show that and are inverses of one another.
7 =2 35 3

7) Solve the equation for the matrix X.

12 -10 12
X=
L 4} [—18 20}

6) Solve the equation for the matrix X.

Llo —36}(:[——526 220}
O 1
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[Ax=(2] [°)

8) Solve the equation for the matrix X.

{4(93} {—19/533}

6) Solve the equation for the matrix X.

1 3 2 2
X =
[10 —6} [—56 20}

8) Solve the equation for the matrix X.

0 -8 40 56
X =
{4 3} [—19 —33}



